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dx?
(@ 3 (b) 2
(c) 1 (d o
i Agdifa=20+37-kJ lalJ: 1
(@) V15 (b) V14
(c) 14 (d) 15
A8 3x +y —z =11 € AH3d AH3® € WaEU3 I8
(@ <31,-1> (b) <0,1,1>
© <-3,1-1> (d) <1,1,0>
A9d E¥3 F A 387 I6 P(E)=§m§andp(f)=§a?§31p(EnF)?f: 15
@ 1 (b) 1
2 3
() O (d) 1
6
H9d A= [g _15] M3 f(x) = x% — 2x + 393 _FAUT TS, 15
HAd y = sin? (132)53’ Z—zwaé. 15
f;(xz — DT HBIE I .
[ tanxdxTTHSBTE Id .

f3gartiE Mifade 2 = ——;5(0) = 3¢ I8 J

1+

f3gIrME MiadE x4 y = xcos xT fE&Taf3ar UsT4d .
I = Y = EE I AHIE 3x — 5y + 2z = 10 T EHAI IS UFT I

WId P(4) = 3P(B) = fH8 A %13 B ¥ T&31-p(A U B)P(4|B)UTT I
Had f(x)=@ —x)1/3€[3" f of (x)lBTaaF‘lé)ﬂBTaa
Or

Check whether relation R = {(x,y):x < y?,x,y € R}, defined on set of real numbers
reflexive Symmetric and transitive .

fie a3 f; sin? (Z) + cos‘l(\/% = tan~? (g)
A A ABCTT YIS 12 TJA1 I »i3 AT A(x, 2), B(4,1) C(=3,7)T5 3 x THB UST I
HIIFL y = (cosx)* + (x)cosx I3 3—114313(@.
Or
TBE f(x) = x2 — 2X3 — 3xBEW3IB[-1,3]UIIB 4.

A3 y=3x2—2x+ 5?@?%@@%8?@3@ T-I"UBJEIHT 4x —y =
108 AN33 3.
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fEBA T + 2 = R A 242 = 12909 T R U39 TUITSB U S
fSedmi® MHaIE [xsin (x) yl dx + xdy = 0;y(1) =2 TB .

Jetd eded a3 b JETHUAIF|d + b| < |d| + |b| TR MIAHEIT ST TR |

g 1 g5 TE M3 3 TEMM IR I& M3 ES 2 fdd 6 BB M35 &M dicas foa
TS 933318 &% gfon famr w3 €n 39 fox div o<t It At It 3 uzTad fa €g
Jeag 1 fegaet ared

J& {58 it miiade © Yot § Hefgam =t It I8 a9 -

4x+3y+z=103x—y+2z=9,x — 2y — 3z = —-10.
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Hindi Version
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(@ <31-1> (b) <0,1,1>

() <31-1> (d) <1,1,0>
Ul EUd FR§a® UeU S P(E) = WA P(f) == BT P(ENF)B : 15
() 1 (b) 1
2 3
© 0 (d) 1
6
HEFA=[§ _15]113 F() = x2 — 2x + 3 B8 F(A)TAT DI 15
Uef y = sin™! (132)%?‘?[ Z—i’q?ﬂ Wﬁ! 15

f(ﬂ—gﬁgﬂ%ﬁ\—sﬂﬁ

[ tanxdx BT GAUTH HolC.
HAHT THPRT 2 = ——;5(0) = 3 P T B

HAHT THIPRT x 2 +y = xcos xPT GHIHT IRTS BT PIoIC.
[ = 22 = E2 qUT FHAD 3x — 5y + 22, = 10 B S IV HIC Bl

-1 6

uel™ P(4) = 3P(B) =2 W61A U1 B_UEAWE d IS 3T p(A U B)P(A|B)BIIE P,
Tl f(x) = 3 —x) 738 @ f of ()@ BIQF-14} B DI
Or

TG R = {(x,¥): x < y% %,y € R}, IRAA[F TQUS & WU R W R 8 Tsdra
DG Hf II9 IaqAY GHATT 01 GHTHS § 370al et

fq SIS B sint (Z) + cos‘l(\/% = tan~! (E).
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UGIAABC HTHIGA 12T SHR ¢ aul fRRR
A(x,2),B(4,1) €(=3,7)8 d x BT HAY BT PIoid
el y = (cosx)* + (x)cosx %a Z—zm ﬁ\—rrfﬁ .
Or
B f(x) = x2 —2X3 — 3x ® QAT AHRIA[—1,3]IRIAS P TSdTd Pioig.
JH y = 3x% — 2x + 5TR I I W HT FHIHIU BT HIo of @ 4x — y =
10% THMGR§.

[ 3% cos 5x dx T HAUTH Hioiy .
OR

[ (X? + 3)dx. BT HAUTD BHISQ Ueb SIS Bl AHT @RI By
AL+ L = 1[ANWAW 2+ = 1S I TS TS TV A FIA P .
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Wﬂﬁﬂmhﬂm[xmﬁG)—ﬂdx+mw=omm)=§ﬁsa$m® .
RN AR
d dul b & WQ FiG B il + b| < |d| + |b|3H SFHT b1 =4 Wi i F @y
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Tafafa e gHieor @ Rl F Hefew aftfa ga Bie

4x +3y+z=103x—y+2z=9,x — 2y — 3z = —-10.

Or
RRYfP IUTARON TART 3T
4 3 1
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1 -2 -3
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X+y>4x+y<12,x<9x,y<0. DA = 3x + 2y — 3 T P ARITHDHON
AYACTHIDBRU By




English Version

Note: (i) you must write the subject-code / paper-code 028/A in the box provided on the title page of your answer-
book.

(ii) Make sure that the answer-book contains 30 pages ( including title page) and are properly serialed as soon as you
receive it.

(iii) Question/s attempted after leaving blank page/s in the answer-book would not be evaluated.

(iv) All questions are compulsory.

(v) Use of calculator is not allowed but log tables can be used.

(vi) Q.1 will consist of 10 parts and each part will carry | mark.

(vii) Q.2 toQ.9 each will be of 2 marks.

(viii) Q.10 to Q.19 each will be of 4 marks .

(ix) Q.20 to Q.23 each will be of 6 marks.

(x) Graph paper is attached with the question paper.

(xi) Punjabi and Hindi versions of Questions are Translations of English version Since translation is based is based on
approximations so in the case of any confusion consider English version to be correct.

(xii) Question numbers 10,13,15,20,21,22and 23 contain internal choice.

Lo if f(x) =logx And g(x) = e* Then fog (x) Is : 1
(a) e” (b) X
(©) (d 1
logx
i If A isasquare matrix of order V 1
3% 3 W3 |A|'= 5 then |Adj. (4)| is
@ 5 (b) 125
(c) 15 (d) 2
iii o N S A 1
Principle value of sin=! (5) is:
(a) v (b) r
6 4
(©) T (d) r
3 2
lv x?2 -9 1
if f(x) =y _-3 "’ X # 3 s continuous x = 3 then value of mis:
m , x =3
(@ 3 (b) 6
(c) 2 (d 1
d
v if y =log(tanx) then d is: L
dx
(@) 1 (b) sec? x
tan x tanx
(c) sec? x (d) 0
i /2
Sin3/2 x + cos3/2x 15 €qUALEo

0
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(a) T (b) 0
2
@ 1 (d) r
4
i Degree of differential equation 1
d*y (dyy’ .
W'F(E) +y=0is:
(@ 3 (b) 2
() 1 (d 0
i if d =210+ 3] — kthen |d|is: 1
(a) V15 (b) V14
(c) 14 (d) 15
Direction ration of normal to a plane which is parallel to the plane 3x + y —z = 11 are
@ <31,-1> (b) <0,1,1>
© <31,-1> (d) <1,1,0>
If E and F are independent events P(E) = - and P(f) = ; then P(E N F)is: 15
(2) 1 (b) 1
2 3
© 0 (d) 1
6
If A= [g _15] and f(x) = x? — 2x + 3 then find f(A). 15
dy 15
A . _1 . _7
If y.=sin (1+x2> then find I
Evaluate f:(xz —1)dx.
Evaluate [ tanxdx.
Solve the differential equation Z—i’ = 1+1x2 ;7(0) =3

Find the integrating factor of differential equation x% + y = xcos x.

. . -1 3- 3z+1
Find the angle between line == = =" = =

and the plane 3x — 5y + 2z = 10
if P(A) =3P(B) = % where A and B are independent events then find p(A U B)P(A|B).

If f(x) =3 - x)1/3then find f of (x)Also find F~1
Or

Check whether relation R = {(x,y):x < y?,x,y € R}, defined on set of real numbers
reflexive Symmetric and transitive .

Prove that: sin™! (Z) + cos‘l(\/% = tan~! (g)

If area of A ABC is 12 square untis and vertices are
A(x,2),B(4,1)and C(—3,7) ther the value of x.

If y = (cosx)* + (x)€°5* then find Z—z.
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Or
Verify Rolle’s theorem for the function f(x) = x? — 2X3 — 3x in the interval [-1,3].

Find the equation of tangent to the curve y = 3x2 — 2x + 5 which is parallel to the
4x —y = 10.
Evaluate [ e3* cos 5x dx .

Or

Evaluate foz(xz + 3)dx as limit of a sum .

2 2
Find the area of smaller region bounded by the ellipse % +>- = 1and straight §+§ =1.

Solve the differential equation [x sin? (%) —yldx +xdy = 0;y(1) = 7.

For any two vectors

d and b prove that |d@ + b| < |d| + |b| also write the name of this inequality.

Bag | contains 5 red and 3 black balls and bag Il contains 6 red and 5 black one bag is
Chose at random and a ball is drawn from it which is found to be black Find the
probability that it is drawn from bag |I.

Solve the following system of linear equations by matrix method:
4x+3y+z=103x—y+2z2=9,x — 2y — 3z = —-10.

Or
Using elementary transformations find the inverse of matrix
4. 3 1
3 -1 2
1 -2 -3

An open box is to be made of a squre sheet of tin with side 20 cm by cutting off small
squares from each corner and folding the flaps Find the side of small square which is to
be cut off so that volume of box is maximum.

Or

Find the height of right circular cylinder of maximum volume that can be inscribed in a
sphere of radius 103 cm

Find the image of point (3,-1,2) in a line % === —
Or
Find the shortest distance between the lines :
m=0+2]—3k+A(31—4j—k), 75 =21+ k+u(+j+ 5k)

Maximize z = 22x + 44y subject to thr constraints

x+y=>33x+8y<24,x—y=>0x,y >0.

Or

Maximize and minimizez = 3x + 2y — 3 Subject to the constraints
x+y=>24,x+y<12,x<9,x,y <0.
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